Guess Paper – 2008

Class – X
Subject – Mathematics
TIME: 3 hrs







Max. Marks: 80

Section A Q.1   to Q10 ( 1 marks

Section B Q.11 to Q15 ( 2 marks

Section C Q.16 to Q25 ( 3 marks

Section D Q.26 to Q30 ( 6 marks

                                                   SECTION A

1.   For what values of 
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 the quadratic equation 
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 has equal roots ?     

  2.   If the sum of the squares of zeroes of quadratic polynomial 
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, find the  value of 
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3.  If
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4.  What is the probability of getting a number less than 7 in a single throw of a die ? 

5. If the sum of 
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terms of an AP be 
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 and its common difference is 6, then find the first term..

 6.  The length of tangent from a point A to a circle, of radius 3 cm is 4 cm. Find the distance of A from the centre of the circle.

7.  Write the empirical relationship between the three measures of central tendency, namely,  Mean, Mode and Median.                                       

8.  If  the surface areas of two spheres are in the ratio 
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, then find the ratio of their volumes. 

9. Without actually performing the long division, write whether the rational number 
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 has a terminating decimal or a non terminating repeating decimal.


10. In figure, AB
[image: image12.wmf]QR. Find the length of PB.
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      SECTION B

   11. Find the zeroes of the quadratic polynomial
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, and verify the relationship between the zeroes and its coefficients 

   12. In figure, 
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13. Two dice, one blue and one grey, are thrown at the same time. Write down all possible outcomes. What is the probability that the sum of the two numbers appearing on the top of the dice is 


(i) 8?      (ii) Less than or equal 12 

   14. If the points
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 are the vertices of a parallelogram, taken in order, find the value of 
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   15. Meena went to a bank to withdraw Rs.2000. She asked the cashier to give her Rs.50 and Rs.100 notes only. Meena got 25 notes in all .Find how many notes of Rs.50 and Rs.100 she received.

SECTION C

16. Prove that 
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 is irrational. 

17. In an A.P, if the 12th term is -13 and the sum of first four terms is 24, what is the sum of first 10 terms?  

   18. Draw a triangle 
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 with side 
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 of the corresponding sides of the triangle
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19. The median of triangle divides it into two triangles of equal areas. Verify this result for 
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 whose vertices are 
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    20.  Find the area of the shaded design in figure (a), where ABCD is a square of side 10cm and semicircles are drawn with each side of the square as diameter.

                                               A                                            B






           C


          D

    21. Find the coordinates of the points of trisection (i.e., points dividing in three equal parts) of the line segment joining the points 
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2

.

2

(

-

A

 and 
[image: image32.wmf])

4

,

7

(

-

B




    22. 
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 is a chord of length 
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of a circle of radius 
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  23.  Two trains leave a railway station at the same time. The first train travels due west and the second train due north. The first train travels 
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 faster than the second train. If after two hours, they are 
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 apart, find the average speed of each train

  24.  If 
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      25. Show that: 
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                SECTION D

26. Form a pair of linear equations in two variables using the following information and  solve it graphically:

Aftab tells his daughter “Seven years ago, I was seven times as old as you were then. Also three years from now, I shall be three times as old as you will be”.

Find their present ages. What was the age of Aftab when his daughter was born?

27. If the angle of elevation of a cloud from a point 
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 metres above a lake is 
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 and that of  depression of its reflection is 
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, prove that the distance of the cloud from the point of observation is 
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28.  If the mean of the following distribution is 19.92, find the missing frequencies 
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	Class
	4-8
	8-12
	12-16
	16-20
	20-24
	24-28
	28-32
	32-36
	Total

	Number of Students
	2
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	15 
	25
	18
	12
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29.  State and Prove Area Theorem. 

 In given figure, the line segment 
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is parallel to the side 
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 of 
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 divides the triangular region into two parts of equal areas. Find the ratio
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30. A shuttle cock used for playing badminton has the shape of frustum of a cone mounted on a hemisphere. The external diameters of the frustum are 5cm and 2cm, the height of the entire shuttle cock is 7cm .Find its external surface area.































O











3 cm








_1254332974.unknown

_1254333660.unknown

_1254333913.unknown

_1254334083.unknown

_1254334940.unknown

_1254334967.unknown

_1254334898.unknown

_1254333955.unknown

_1254333999.unknown

_1254334011.unknown

_1254333933.unknown

_1254333693.unknown

_1254333739.unknown

_1254333678.unknown

_1254333255.unknown

_1254333494.unknown

_1254333621.unknown

_1254333286.unknown

_1254333453.unknown

_1254333277.unknown

_1254333048.unknown

_1254333207.unknown

_1254333029.unknown

_1254301670.unknown

_1254304816.unknown

_1254332800.unknown

_1254332877.unknown

_1254332941.unknown

_1254332906.unknown

_1254332833.unknown

_1254305185.unknown

_1254332666.unknown

_1254332691.unknown

_1254305597.unknown

_1254305661.unknown

_1254331118.unknown

_1254305614.unknown

_1254305587.unknown

_1254305568.unknown

_1254304986.unknown

_1254305184.unknown

_1254304974.unknown

_1254303700.unknown

_1254304693.unknown

_1254304721.unknown

_1254304676.unknown

_1254303431.unknown

_1254303470.unknown

_1254301754.unknown

_1254303256.unknown

_1254301449.unknown

_1254301530.unknown

_1254301548.unknown

_1254301481.unknown

_1254301363.unknown

_1254301394.unknown

_1254301298.unknown

_1254301320.unknown

_1254301258.unknown

_1254301149.unknown

